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Note : Attempt all questions.
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Graph paper is required.
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neral Instructions : Use of calculator is not permitted.
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Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write
true/false are given. Each question carries 1 mark.

(itf) W¥ AT 2 9 6 T HfaerRwiy W ¥ 1 vl v W 2 %
arreifed € |

Question Nos. 2 to 6 are very short answer type questions
Each question carries 2 marks. |
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(iv) W i 7 @ 10 T difterEad prg
- amtfen ¥

Question Nos. 7 to H) are very 8

linch question carrics 3 marks.
L] ."qi *
(v) W waiE 11 @ 14 T TS v # | v 9o o AE
fyareu & | WEIE WY W 4 37 oTEfea ¥ |

Question Nos. 11 to 14 are short answer type questions. Each

question has an intcrnal choice. Each question carries 4 marks.

(vi) W HU 15 W 16 T 9 ¥ | vl g o Aafien fawed
¥ 9T W WS 3 aTeife ¥ 1

- Question Nos. 15 and 16 are short answer type questions. Each

hort answer type questions.

question has an internal choice. Each question carries 5 marks.
(vii) W FHiE 17 T 18 EH3wg w91 € | vl v § atiafis faseg

T | U® W W 6 3 aTeifeq ¥

Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.
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(Part-A) Choose and write the correct option :

() ER (x> -4) F T ¥ ;
(1) 2,2
() -2,-2
(&) 2,2
() 0,2

Zeros of polynomial (x2 - 4) are :
(@) 2,-2

by -2,-2

(c) 2,2

d 0,2
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(iv)
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The total number of diagonals in a cuboid is :

(@ 6 ®) 8

() 12 @ 16

faeg (1, -3) fvw agaie 4 gm ?

(37) W agufw (=) fodta wgafa
(%) g aguie (5) =gd wigute
Point (1, —3) will lie in which quadrant?

(a) First quadrant o (b) Second quadrant
(c) Third quadrant - (d) . Fourth quadrant
4 SR —2 1 FHIR WA B ¥
e @

(_H)..O_ | . L o 2 :

The arithmetic mean of 4 and -2 is :

@ 1y
() 0 cood) 2

sec 45° x cos 45° T | g ¢

1

@ JE @

(@) 1 (2 0

Value of sec 45° x cos 45° will be :
@ Y2 . ®
() 1 (d)
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(Part-B) Fill in the blanks :

[1x5=5]

() e e st B o R el §, 9 ——— HEA 8

ich i i ' own
The sum of money on which interest is calculated is kn

is

(i) A x:18:54 T, O x & WF — TP

If }c .18 : 54, then the value of x will be .

| |
(iif) afE cosO =1 E‘T,aﬁea;mﬁ——%‘rml_

If cos6 = 1, then the value of 0 will be . -

W) 9 F % A sfran F qen-farg Y frrerr et Y i
et ¥ | S

The line joining center of a circle and mid-point of a chord is
to the chord. |

V) wwﬁmﬁr?ﬁﬂ;%ﬁﬁﬁmwaﬁ,qamﬁ——— B §

A chord which passes through the center of the circle is
of circle,

——

-1 (m—u)mammﬁf@q: [1x5=5)
(Part-C) Write True or False ;

® maﬁwmﬁ,awmwaﬁwwm%|

If two friangles are similar, then theijp co

rresponding sides are
always equal,
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The value of sin(90° — 8) is cos®.

(iif) e e A A ﬂii’.! & A i STada T 9

a, 2

If =L ::ﬁ in the system of equations, then we will get a
a; 2
unique solution.

(iv) x-31& W fegd fapeht foag w1 y Frdvies Y@ @1 €

The y coordinate of any point on x-axis is zero.

(v) fora ufn o = 5t Torn 9 S 8, S fage s ¥
~ The amount on which interest is calculated is called maturity

amount.
ST o 1 g(x), p(x) 1 T oS &,
gx)=x+4, p(x)=x*+2x—1

Check whether g(x) is a factor of p(x), if gx)=x + 4,
p()=x*+2x-1 | S |

<k T8 | 3 Fer Siehte & o arafae T8 SRR B, 9ty
9x% + F3kx+4=07 _
For what value of k will roots of the equation be real and equal, if

9x2 + 3kx +4 = 07

2 cos 40°. cosec 50° % B T Hifag )

Find the value of 2 cos 40°. cogec 500,

[2]

[2]

[2]
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117, 106, 123, 110, 125, 115, 102

(2]

Find the median of the following data :

117, 106, 123, 110, 125, 115, 102

-6 W@ fag A g (S, 1) % oftw g wa i [2]
Find the distance from the origin to the point (5, 1).
WA-7 S miem a2+ 5 _2=0 H el B AR O O F i [3]
Find the sum and product of the Toots in the quadratic equation
PR+5x-2=0
T¥1-8 umemﬁmﬁmaﬂmmaﬂﬁm 3]

Find the average of the first 9 even numbers,

WA-9 A (x+4):36:.1.4 B’r,?hxaﬂnnamﬂﬂﬁrqn [3]

If (x+4):36:.1- 4, then find the value of x.

woT-10 wﬁmﬁmm%%% aﬁ@ﬁ.&iﬁﬁm%waﬂ

Ty 14 ﬁﬁ.t,?hﬁmaﬁﬁﬁ]ﬁmmm 3
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[7]

Calculate the volume of a sphere having surface area of 154 sq. cm.

arerar
OR

T S & Ui W ufify 88 F. ofw F=nd 10 . T A W
HTGT Fid I | '

The circumference of base of a cylinder is 88 cm and height is 10 cm.

Find the volume of the cylinder.

qe-12 =1 Rl 1 9gasd i i

@t | 0-10 | 10-20 | 20-30 | 30-40 | 40-50

st | 4 | 10 | 16 2 | 8
Find the mode of the following table :

. e
Class-interval |. 0-10. - 10-20 | 20-30 | 30-40 | 40-50.
Frequency 4 - 1:{) , 16 . 12____ 8
m
OR

1 Sihgl 1 T M e W

i 30 35 38 40 42 45 48
HREIAT 6 5 6 6 2 2
Find the arithmetic mean of the following data :

tained T '
Marks obtaine 30 35 38 40 42 45 48
Frequency 6 5 6 g 6 2 )

[4]

[4]
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YT-13 T 300 T R 5% At e XA 1 2
RS et | F welifd €
3 4 >
wma (ad i ) 0 ! >
0 75
s (g E) | 0 15 | 30 | 45 O
| : | 4
mamwm%aﬁaaﬂﬁ@@?ﬁﬂl _ [ ]
The interests on deposit Rs. 300 at 5% rate of mterest for 1,2,3,4
and 5 years are shown in the follomng table
Time (in year) 0 | 2 3 4 5
Simple interest (in Rs.) | 0 15 30 45 60 75
. Draw the graph between time and simple interest,
e
OR
g P4 = PB%’rmA aﬂw %ﬁ%&ﬁm (2 0)g (~2 4) “s‘rﬁan
P y- aqaam:ﬁwmz‘f wP%ﬁﬁmmW|
If PA = PB and co-ordinates of points 4 and B are (2, 0) and
(-2,4) respectlvely and P lies on the y-axis, then find the co-ordinateg
of point P '
U¥1-14 . : ' .
ﬁzﬁﬁqﬁﬁ@maaﬁmﬁgaﬁ 9l 1 o7 9w Y syenady = T ¥ gy
% R T B |
Prove that th 4]
at the square of hypotenuse of aright-angled triangle ig equal
tofhe sum of squares of other r'emaining two sides.
S-4B+ TT——
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areral
OR

e o P T e 35 g O T 180° T E
Prove that the sum of opposite angles of a cyclic quadrilateral

is 180°.

ﬁ‘ﬁABC%WﬁTﬁ%EﬁmaﬁﬁQﬁmﬁAB= g i, BC =5 &l
3R ZABC = 60°% | T & W oft et
Construct a circumcircle for triangle ABC where AB = 8 cm,

BC =5 cm and ZABC = 60°. Write the steps of construction also.

Herar

OR

6 T, gﬁimﬁﬁmﬁ@ﬁw%m:@ﬁmaﬂﬁmméﬁ
Te i fafaa)

Construct the incircle of an equilateral triangle of side 6 cm. Write

the steps of construction also. https://www.cgboardonline.com

T SR X 150 &, WeWE H X Y 2 ¥ a0 Mot S w § S
T ¥ | T ) 5% S €, I 2 9w free SR W
gt ? | 2

A person deposits Rs. 150 per month in a Recurring Deposit Account

for 2 years. Find the amount he will get at the time of maturity at the

rate of 5% per annum.

(5]

(5]
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T =Afa X 20,000 T, 1 = ¥ fere Ty o @ AL S e | Al
TS R 6% SN 81 a1 =S 9 W Saitd g v, o fra fafe
gy Thoem arelt a= ity feaet et ?

A person deposited Rs. 20,000 for one year in a Fixed Deposit
Account. If the rate of interest is 6% per annum and the interest is

compounded every six months, then what amount will he get after
due date?

uy-17  fag wifse

L~ cosb = cosec B —cotB [6]
l+cos@

Prove that

| —cosb = cosec 8 —cotB
14+ cosd
37erqr
OR
cos . cos@ -

1—sin®  1+sin®
Solve the equation : *

cosf cos® _
I—sin®  1+4+sin®

S-4B+
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(p+q)d RIA T (61

If pM term is ¢ and g'" term is p of an arithmetic progression, then
prove that (p + q)m term 1s zero.
| 3rerar
OR

¥ g T 3 foe GEto FEE ke — Sy =2 3R 6x + 2y =7 F—
(i) fgdra g =,

(i) PR ETATR?

For what value of k, system of equations kx — 5y = 2and 6x+2y=7
has—

(i) unique solution;

(if) no solution?
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